Ch5D4 LawOfSines per1.notebook

December 11, 2019

HW 5-3 GHW#9 Due Next Wed, 12/18
1. k:%ab.s‘/né' 9. 55.5 Mini Quizzes Today & Fri this week
2. 54 units? 10a. 8
3. 6 units?® 10b. 39.8 units?

4 9 _ b _ ¢ Warm-up with the 2 questions at
" sinA sinB sinC the top of today's notes.
5. 12
6. 3
7. 5.7
8. 95
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Dec 16-7:44 AM

Law of Sines

Warm-up using the Law of Cosmas c = a* + b? -2abcosC

Find the missing side to the neare smg the Law of Cosines.
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Find the smallest angle of triangle ABC to the nearest minute using the law of cosines.
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QUIZ

Dec 11-3:50 PM

Using the Law of Sines To find a missing side or angle given AAS or ASA
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MBC hds an area &L 60 sg. units, with.a= 12 and b = 18. Find the
measure of t : etween sides a and b fo the nearest d
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Nov 29-2:06 PM

4. The members of the Horticulture Club are designing a wildflower garden. They want
to make it in the shape of g friangle whose sides have lengths 12 feet, 14 feef, and 18 A

feet. ’(1
a. Whatjs the measure of g largest angI;)n the triangle, to the nearest !l
f a degree?

b. Using your answér to part a, jlind the area of the friangle to the nearest / 8’
tenth of a square foot.

c. If one package of wildflower seeds cove@uar‘e feet, how many

packages must they b;f b) k__ L abSP\Q 33«q = # pcl?j.
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Greg wants to build a garden in the shape of an isosceles triangle with one of the
congruent sides equal to 12 yards. If the area of The garden will be 55 square yards,

triangle. ,[\
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find, to the nearest tenth of a degree, the measures of the three acute angles of the
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